Falkirk Council

Transfers Report

This report contains the transfers results.

Contest Name

Ward 7 - Falkirk South

Valid Votes

Positions to be Filled

Quota

6,106 3 1,527

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Lorna BINNIE	Scottish National Party (SNP)	1,843
Sarah PATRICK	Scottish Conservative and Unionist	1,744
Emma Lindsey RUSSELL	Scottish National Party (SNP)	701
Euan STAINBANK	Scottish Labour Party	1,364
Hunter THOMSON	Scottish Green Party	346
Richard WILSON	Independent	108
	Total	6,106

Candidate Lorna BINNIE Elected with 1,843 votes, being in excess of the quota of 1,527 Candidate Sarah PATRICK Elected with 1,744 votes, being in excess of the quota of 1,527

This report contains the transfers results.

Stage 2 - Surplus of Lorna BINNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Emma Lindsey RUSSELL	1,505	0.17145	258.03225
Transfer to Euan STAINBANK	96	0.17145	16.45920
Transfer to Hunter THOMSON	135	0.17145	23.14575
Transfer to Richard WILSON	18	0.17145	3.08610
No further preference	89	0.17145	15.25905
Not transferred due to rounding			0.01765
	Total		316.00000

This report contains the transfers results.

Stage 3 - Surplus of Sarah PATRICK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Emma Lindsey RUSSELL	44	0.12442	5.47448
Transfer to Euan STAINBANK	789	0.12442	98.16738
Transfer to Hunter THOMSON	70	0.12442	8.70940
Transfer to Richard WILSON	221	0.12442	27.49682
No further preference	620	0.12442	77.14040
Not transferred due to rounding			0.01152
	Total		217.00000

This report contains the transfers results.

Stage 4 - Exclusion of Richard WILSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Emma Lindsey RUSSELL	11	1.00000	11.00000
Transfer to Euan STAINBANK	33	1.00000	33.00000
Transfer to Hunter THOMSON	27	1.00000	27.00000
Transfer to Emma Lindsey RUSSELL	7	0.17145	1.20015
Transfer to Euan STAINBANK	4	0.17145	0.68580
Transfer to Hunter THOMSON	3	0.17145	0.51435
Transfer to Emma Lindsey RUSSELL	5	0.12442	0.62210
Transfer to Euan STAINBANK	98	0.12442	12.19316
Transfer to Hunter THOMSON	23	0.12442	2.86166
No further preference	37	1.00000	37.00000
No further preference	4	0.17145	0.68580
No further preference	95	0.12442	11.81990
Not transferred due to rounding			0.00000
	Total		138.58292

This report contains the transfers results.

Stage 5 - Exclusion of Hunter THOMSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Emma Lindsey RUSSELL	183	1.00000	183.00000
Transfer to Euan STAINBANK	121	1.00000	121.00000
Transfer to Emma Lindsey RUSSELL	82	0.17145	14.05890
Transfer to Euan STAINBANK	18	0.17145	3.08610
Transfer to Emma Lindsey RUSSELL	10	0.12442	1.24420
Transfer to Euan STAINBANK	30	0.12442	3.73260
No further preference	69	1.00000	69.00000
No further preference	38	0.17145	6.51510
No further preference	53	0.12442	6.59426
Not transferred due to rounding			0.00000
	Total		408.23116